mathrm a'N

hrm d lambda

=
D
o

mathrm d

mathrm d N / mathrm d

T[

Ratio to CMS

E‘F mat

H
00)
o

=
()]
o

Rmaty
00 o N
o o o

(®))
o

40

20

0.5

x1g000 GeV pp Z+Jet

I I I I | I I I I %
Groomed LHA)\é_5 (charged only) (CMS jet substructure) 2

B CMS %

--G-- Herwig++ 2.7.1 default =)
--3-- Herwig 7.2.1 default :
—— Pythia 8.308 default ‘2
--¥-- Pythia 8.308 vincia-default é

----- ¢ Sherpa 2.2.9 default

-
..

)28 1.

mcplots.cern.ch [arXiv:1306.3436]

N

—0.5

00|51
groomed LHA (charged-only)



	Contents
	Page 1


